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Question Number : 1 Question Id : 4058591195 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the function f: (—. -1] — (a. b] defined by £(y)= ({-"3—33“ is one - one and

onto. then the distance of the point P(2b + 4. a + 2) from the linex + ey =4 is :

Options :

4058593771, 4\1+¢°

—

4058593772, W 1+¢°

2]
4058593773, 2V 1 +e

4058593774, V1 +¢°

Online
Mandatory
20

20

80

Yes

0

1
40585974
Yes

null



Question Number : 1 Question Id : 4058591195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
UE fix) = e 3+ GRTARHINT BT £: (~o0. ~1] — (. b] THD! qUT
HBIEI 8. AT x+ ey =4 UG P2b+ 4. a+2) BI G B

Options :

4058593771, 4\1+¢°

—

4058593772, 3W1+¢°

4]
4058593773, 2V 1 +e

4058593774, N1+ ¢°

Question Number : 2 Question Id : 4058591196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SINX  ~,—SIOX

The number of solutions, of the equation e 2e =2,18:

Options :
4058593775. 0
4058593776. 1

4058593777. 2

4058593778. more than 2



Question Number : 2 Question Id : 4058591196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GHIPR o510 % _ 2 —5i0% = ) & Bl Bl GO 6|
Options:

4058593775. 0

4058593776. 1

| )

4058593777.

4058593778. 2 4 Hftd

Question Number : 3 Question Id : 4058591197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let z; and z, be two complex numbers such that z; +z, =5 and zl—“ + zé‘ =20+15i -

Then. | ._—f' 58 z;l | equals -

Options :

4058593779, 3043

4058593780, 15v/15

4058593781, 25V

4058593782. 75



Question Number : 3 Question Id : 4058591197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I &1 Y WIS 2, AUz, D (U2 +2, =5 TU 3 4 23 20415 Bl
|7} +23 | IR EN

Options :

4058593779, 3043
4058593780, 15v/15

4058593781. 25V

4058593782. 75

Question Number : 4 Question Id : 4058591198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let .4 be a 3 = 3 real matrix such that

i{1"‘ ' \i (-1 1% [(0)
Al0]=2(0[. 4|0 |=4|0
|._1. 1] |1

X
Then. the system (4-31) ,1-‘

Options :

4058593783. no solution

4058593784, Infinitely many solutions



4058593785, tique solution

4058593786, cxactly two solutions

Question Number : 4 Question Id : 4058591198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

| 1}

=12 0 ]

=4

HIATUD 3 » 3 arid® &I%ﬁ;&%'ﬁq

A
_|/.

Al

*I‘%’I?ﬁ

-

B 1o ‘
58 O -

Options :

4058593783, D1 P15 60 1ol &

4058593784, P A & ©

4058593785, 1 3HGd1d B G|

4058593786, & HIA Gl EA & |

Question Number : 5 Question Id : 4058591199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of ways in which 21 identical apples can be distributed among three
children such that each child gets at least 2 apples, 1s

Options :



4058593787. 130

4058593788. 136

4058593789. 142

4058593790. 406

Question Number : 5 Question Id : 4058591199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

21 J4TH UG @1 A g1 § gicd & didl, Od B TP 8= $ DI A FH al
g Id, =l

Options :

4058593787. 130
4058593788. 136
4058593789. 142

4058593790. 406

Question Number : 6 Question Id : 4058591200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If for some m. n: "rJCm 32 ( ﬁCm—| ]-+- ﬁ(:h_: > 3(_13 and 1 Py :"P,=1:8, then

FIP

ne1+ TIC,, is equal to

Options :



4058593791. 372
4058593792. 376
4058593793, 380

4058593794. 384

Question Number : 6 Question Id : 4058591200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe {ddl m. n P feW °C. +2(“{.'“_,_,)+ Q.5 N0, TP P 18 g.dl
+0tlc SRIER G

mT1 ™

Options :

4058593791. 372
4058593792. 376
4058593793, 380

4058593794. 384

Question Number : 7 Question Id : 4058591201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let 27, gt and 44t terms of a non-constant A. P. be respectively the 1%, 204 and

39 terms of a G. P, If the first term of the A. P, is 1. then the sum of its first 20
terms 1s equal to -



Options :

4058593795. 960
4058593796. 970
4058593797. 980

4058593798. 990

Question Number : 7 Question Id : 4058591201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1 U {275 Ul B A. P. BT SR, 34l 94T FdTierdal Ue, TP G. P. P HU:
uﬁa%.wawfﬂwua%miﬁa P HTYYH IS 1 T, Ol 59D YU 20 U1 HT
T gl

Options:
4058593795. 960
4058593796. 970

4058593797. 980

4058593798. 990

Question Number : 8 Question Id : 4058591202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Consider the function f: (0. ) — = defined by f(x) = e 1°%*|_If m and n be
respectively the number of points at which f1s not continuous and f'1s not
differentiable, then m + n s

Options :

4058593799. 0

4058593800. 1

| )

4058593801.

4058593802. 3

Question Number : 8 Question Id : 4058591202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f(x) = oz GRT GRYINT BT £: (0. o) — = B fdaR Bl 6101 giG 39
faigall o ST, S8l F4dd et § aul gD a-id Ael & DU m AU 1§,
?ﬁm—nW%l

Options :

4058593799. 0

4058593800. 1

| )

4058593801.

4058593802. 3

Question Number : 9 Question Id : 4058591203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

& : 2 - . oo J T
Let f: — E — (0. ) be strictly increasing function such that 1im Py I, Then.

R 2

the value of lim {:};F”} -1 is equal to
r=sx| f(x)

Options:

4058593803. 1
4058593804. 7/5
4058593805. 4

4058593806. 0

Question Number : 9 Question Id : 4058591203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

; .. JETx)
HHT f: — R — (0, o) FRAOR a0 e g aul .-"'l'{;m =1gIdl

lim|:i-?5l:- || &1 O SRR 8
x—px| (x _'
Options :

4058593803. 1
4058593804. 7/5
4058593805. 4

4058593806. 0



Question Number : 10 Question Id : 4058591204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let a 1‘31i1b1e line passing through the centre of the circle

¥ + 17 — 16x — 4y = 0. meet the positive co-ordinate axes at the points 4 and B.
Then the minimum value of O4 + OB, where O is the origin, is equal to

Options :

4058593807. 12
4058593808. 18
4058593809. 20

4058593810. 24

Question Number : 10 Question Id : 4058591204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT % +37 - 16x — dy = 0 T % ¥ Gl o Tl U o T YD
T iefi bl g il 4 aut 5 R e 81l 04 + 0B, el 0 g 8, 1

FAdH gF B |

Options :

4058593807. 12

4058593808. 18

4058593809. 20

4058593810. 24



Question Number : 11 Question Id : 4058591205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The area of the region enclosed by the parabolas y = 4x — x” and 3y = (x — 4)? is
equal to

Options :

w |

4058593811.

4058593812. 6

32
4058593813, 9

4058593814. 4

Question Number : 11 Question Id : 4058591205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
QXA y = 4x —x2 9UT 3y = (x — 4)* Y 2R & 1 &% g

Options :

w

4058593811.

4058593812. 6

32

4058593813, 9

4058593814. 4



Question Number : 12 Question Id : 4058591206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let f,2:(0,¢) > R be two functions defined by f(x)=] (|r| ~1*)e @ and

_Eh.'hj"“z,,'f'ﬂ e~'dr . Then, the value of U(_f [-1““3.- 9 ] + g( flngy"l]) is equal to
1 . \
Options :

4058593815. 8§
4058593816. 6
4058593817. 9

4058593818. 10

Question Number : 12 Question Id : 4058591206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT f(x)= [ (1]-) e dr TUT g(x)= J'f /2 o GRTARHIIG G1 Bt

f.g:(0,) >R T Il u[;[\jmg—u]ﬂ,{m]) &1 HH SRIER § |

Options:

4058593815. 8
4058593816. 6

4058593817. 9



4058593818. 10

Question Number : 13 Question Id : 4058591207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The temperature T () of a body at time t =0 15 160° F and it decreases

continuously as per the differential equation % =— K(T-80), where K is a positive
i

constant. If T (15) = 120°F, then T (45) 1s equal to

Options :

4058593819. 80° F
4058593820. 85° F
4058593821. 90° F

4058593822, 95° F

Question Number : 13 Question Id : 4058591207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U qq 1 AU T (7). 999 =0 TR 160° F § aUI UG 3aHd GHIBU]
T _ _ k(r-30) & 3UR WIAR BH 81 361 8. el K e 3R 81 Ul

dr

T(15)=120°F &. dl T (45) TEL ¢

Options :

4058593819. 80° F

4058593820. 85° F



4058593821. 90° F

4058593822, 95° F

Question Number : 14 Question Id : 4058591208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let P be a parabola with vertex (2, 3) and directrix 2x + y = 6. Let an ellipse

L xt oy — 1 -
E:= 4 o l,a> b, of eccentricity 5 pass through the focus of the parabola P.
a H L

Then. the square of the length of the latus rectum of E. is

Options :

4058593823. 25

4058593824. &

4058593825. 23

4058593826. &

Question Number : 14 Question Id : 4058591208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



-

JﬂﬂqmthmuPaﬂﬂﬁhl3}%auﬁﬁmﬂzx+y=ﬁ%|HHlf=dﬁ%mmaﬂ
22
Wi £: 5+ L =1,a> b, Rae@ pH U IR TR A E
a- b°
@1 AT oilal B Talg Pl a7 exI6R g

Options :

4058593823. 25

4058593824. &

4058593825. 23

4058593826. &

Question Number : 15 Question Id : 4058591209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let A (a. b). B (3, 4) and C (6. —8) respectively denote the centroid. circumcentre
and orthocentre of a triangle. Then, the distance of the point P (2a + 3. 7b + 5)
from the line 2x + 3y — 4 = 0 measured parallel to the linex —2y—1=01s

Options:

KA
4058593827, 17

53
b2

4058593828. 7

1545
4058593829, 7




4058593830. 6

Question Number : 15 Question Id : 4058591209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT A (a. b). B (3. 4) TUI C (-6, -8) TP HYS & T, URDG= Ul G855 g
dIfdg P (2a+3.7b+5) DI @I 2x +3y—4 =0, 3@l x-2y—1=07D YOR

CIETRICC N

Options :

4058593827. 17

4058593828.

4058593829. 7

&

4058593830. 6

Question Number : 16 Question Id : 4058591210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let (0. P. v) be the mirror image of the point (2. 3. 5) in the line
x=1_y-2 2

23

;3 . Then. 2a + 3P + 4y 1s equal to
Options :

4058593831. 31



4058593832. 31
4058593833. 33

4058593834. 34

Question Number : 16 Question Id : 4058591210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O f6g (2. 3. 5) BT 3@l 1:] =J':2 = fofatfﬂmﬁ‘rﬁﬁ(a. .yl
20+ 3B + 4y RER G| - _

Options :

4058593831. 31
4058593832. 31
4058593833. 33

4058593834. 34

Question Number : 17 Question Id : 4058591211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

\ . =1 v+l z4¢
The shortest distance. between lines L; and L,. where £, : = - 5 A4 5 L G

L, 1s the line, passing through the points A(—4. 4. 3) . B (-1. 6. 3) and

; . x=3 y =z-1 .
perpendicular to the line —= N



Options :

24
4058593835. V117

42
4058593836, 117

i ]

121
4058593837. v221

ﬁq

c

]
I

4058593838. 1

Question Number : 17 Question Id : 4058591211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ot 1, 2t = 2 22 RauTfga A4, 4.3) . B (-1.6.3) W ER

o aTel SR A= X = A e T L, 3. L, AU L, S

-2

Options :

24
4058593835, V117

42
4058593836, V117

121
4058593837. V221

141
4058593838, V221




Question Number : 18 Question Id : 4058591212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the mean and the varance of 6 observations a. b. 68. 44, 48, 60 be 55 and 194.
respectively. If a > b, then a + 3b 18

Options :

4058593839. 180

4058593840. 190

4058593841. 200

4058593842. 210

Question Number : 18 Question Id : 4058591212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wqﬁ&mﬁa. b. 68. 44. 48, 60 T AT YT U] THHTT: 5
a>boldla+3b WS g

Options :

quT 10481 O

I_ﬂ

4058593839. 180

4058593840. 190

4058593841. 200

4058593842. 210



Question Number : 19 Question Id : 4058591213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A coin 1s biased so that a head 1s twice as likely to occur as a tail. If the coin 1s
tossed 3 times. then the probability of getting two tails and one head 1s

Options :

4058593843. 27

4058593844 27

4058593845, Y

s

4058593846.

Question Number : 19 Question Id : 4058591213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TS U1 59 UHR AHH=d ¢ [ fd & o= &1 GYIGAT, Ue & 33 &f UG
@1 &1 T | Al 59 ad &1 3 TR ISTal offdl 6. o &l 9e SR U@ Hd S
GARIINETI

Options :

1
4058593843. 27

2
4058593844. 27



|=

4058593845, Y

s

4058593846.

Question Number : 20 Question Id : 4058591214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a=sin™' (:-‘.in{‘j_]l} and b =cos™" (cns-;(_S}]. then 42 +p* is equal to

Options:

I
i

4058593847.

4058593848, 4% + 25

4

[§

4058593849. 4n~ — 20mx + 50

4058593850. 871> — 407 + 50

Question Number : 20 Question Id : 4058591214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg a=sin™ (:-‘.in{‘j_]l} aUl p=cos™ (GU:-'.(S}]. dl 42 42 WER T
Options :

4058593847. 25

4058593848, 47~ + 25



4058593849, 47> — 201+ 50

4058593850. 87 — 407 + 50

Mathematics Section B

Section Id : 40585975
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 40585975
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 4058591215 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let A={1.2.3. ............. 100}. Let R be a relation on A defined by (x.) € R if and
only if 2x = 3y. Let R; be a symmetric relation on 4 such that R < R, and the

number of elements i1 Ry 1s n. Then, the minimum value of n 1s

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 21 Question Id : 4058591215 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AATA={1, 2.3, oo 100}81 HFTA TR, (x, ) € R Tl IR $aq afg 2x = 3y
%, GRI URYIYT Ue &9 R 81 HFI.4 R U JHHT Ja R, 3. o fou

Re R © QUIR, H 3a0dl &I W1 n g1 0l o DT gAdH H 8 .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 4058591216 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let A be a 3%3 matrix and det(4)=2. If n = det (ucff(acg?’ ([ad; ]))}) then the

2024 —times

remainder when n 1s divided by 9 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 22 Question Id : 4058591216 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2024—times

&, 0 n 1 9 fauIioTd o R IAVBa & .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 4058591217 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the coefficient of x' in the expansion
of (xt 3L+ 3 2 (x4 )t (x+ Y (x+ 2P Hosiah @t 2 e I

.
o Ry by BB, 7 € N. then the value of g2 4 y* equals
r=0

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 23 Question Id : 4058591217 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
HALGo+ 3y + ot 32 (4 2) + (4 32 (e 4 2 4 A (421
TR x* 101D o, 81 3T Za =p"-r". B, ye NB.dp2 4 2 &R &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 4058591218 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let a, b, ¢ be the lengths of three sides of a triangle satistying the condition
(az + E:ll}_‘c2 —2b(a+ckx+ (E'J1 + cj} = 0. If the set of all possible values of x 1s the

interval (c. p). then 12(c + B?) is equal to
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 4058591218 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

o1 U% By @1 i yorsif @1 damsdl ¢, b, ¢ 8. ol

(@®+b7)x?-2b(a+c) x+(b7+c)=0 HP Bcll 5| Ale x & IHI JHa TH] o1
J=Y, SR (o p) 8. Al 12(c? + p?) RIE T .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 4058591219 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5L o
ax“e’ —blog, (1+x)+cxe ™

7 ¥

=1. then 16 (a® + b + ¢?) is equal to

If lim

Moy
X—D X8Iy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 4058591219 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BN " X - . . _
afe G 2C —olge Hx)vere " 3 g6+ B2+ )RR S

X—D xesiny



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 4058591220 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T2 .
120 ¢ x"sinx cosx .
I dx| 1s equal to

4 X+ C{JH4 X

o () Sin
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 4058591220 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

dy| TRER T

T o B
lEBI X7 sinx Cosx

0 siﬂ4 x+co8' x

HE
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 4058591221 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let v = y(x) be the solution of the differential equation

sec” x dx (e?‘j' tan” x h’m.\']rb: 0.0<x- : J.-(E;):{} It 1‘1{}} a. then
> is equal to )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 4058591221 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

n

B

HIT fadd GHITHT sec” x di 4 (EJ' tan” x mn:r]r.fn:z 0,0<x<
(54) - 0FTETy =521 (3) - . 0 TORE___
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 28 Question Id : 4058591222 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let A (—2.-1). B (1. 0). C (0. p) and D (. 0) be the vertices of a parallelogram
ABCD. If the point C lies on 2x — v = 5 and the point D lies on 3x — 2y = 6. then the
value of o+ P+ v + 0| 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 4058591222 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT % JHIR FTGHST ABCD & ¥ 4 (-2.-1). B (1. 0). C (0. p) TUTD (1. 5) |
gl fdg ¢, Wl 2v—y=5 W qU [4g D, Wl 3x -2y =6 W 3.l
0+ B~y + o BTHF R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 4058591223 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A line passes through A4 (4, —6. -2) and B (16. —2. 4). The point P (a. b. ¢). where a,
b. ¢ are non-negative integers. on the line AB lies at a distance of 21 units, from the
point 4. The distance between the pomts P (a. b. ¢) and Q (4. —12. 3) 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 4058591223 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
U T, feigail 4 (4. -6, —2) TUT B (16, 2. 4) W BIPR I 81 X1 4B R fdg

P (a. b. ¢). O8I a. b, c BUITR YUND g, f6g 4 T 21 SBT3 &I gl W gl fdgafl
P(a.b.c)ddlQ(4.-12,3) B dd I © .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 4058591224 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

=% A, M i » M A M
Let a=3i+2j+k b=2i-j+3k and 7 be a vector such that

-

M g N o
a x f;] +247-6k and|(2-5+7). 2=—3. Then |¢’| is equal to

( ah + F;J:ﬁ 2=

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 4058591224 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e

T a=3i+2j+k b=2i-j+3 QU EEY 2 SHUPRE [

.c]"\r .lr:_] + 24 ,; h:;{' Haﬂ'c:— br-i- :| L’}‘ -3 %l Eﬁ |£"|_ W%

» h' ¥
a+blxe=2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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Question Number : 31 Question Id : 4058591225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

B - x*
Al
E. x and t have dimensions of energy, length and time respectively. The dimension

of AB 15

Options :

Consider two physical quantities 4 and B related to each other as £ = where

4058593861, LA 17!

4058593862, L2 17!

4058593863, L2MT?

4058593864, LM 1T}

Question Number : 31 Question Id : 4058591225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



<1 1ifae AT 4 GUT B BT IRPAT FIRA O W@ R AGTY g 22 F

Ar

oRT Gefid ¥ el £, x quT 1 fIum o H: Sul, aars aur 9wy 3 famsh
HIAF e B g e:

Options :

4058593861, LA 17!
4058593862. L-M1T!
4058593863, LM T?

4058593864, L -M 1T

Question Number : 32 Question Id : 4058591226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If two vectors 4 and g having equal magnitude R are inclined at an angle 6. then

Options:

- > 03
A+ B|=2Rsin g

4058593865.

=}
W

4058593866.

—5 B f
A+ B|=2Rcos

3 |

4058593867.

— , B
A - H'—'\I'Effﬁil'l| % |
4058593868. i



Question Number : 32 Question Id : 4058591226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g URNH R S S Ofexl » @ p AT PI DI o8 da

Options :

_}
A+8

Ea’fsin| g .I
4058593865. bt

A—-B

4058593866.

— \
|.I + ﬂ) 2Rcos %}

4058593867.

o » A
A-B I = -.Ea’-!'ﬁinE % |
4058593868. Xz

Question Number : 33 Question Id : 4058591227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A light string passing over a smooth light fixed pulley connects two blocks of
masses iy and m, . If the acceleration of the system 1s g/8. then the ratio of masses

18"

Options :

4058593869.

tad | Lm

4058593870.

4058593871.

:;i
4058593872. 7

Question Number : 33 Question Id : 4058591227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U fRR geob! el Yeil d gl ok dTci U §edl Skl m; d m, GHHM &
S TCH! B SISl g o fob Fort T guian 7 81 afe e &1 @Rul g/s 81 d
SaHTHl T 39 ©

Options :

4058593869.

sl | tm

4058593870.

4058593871.

-1 |

4058593872.

Question Number : 34 Question Id : 4058591228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A block of mass 5 kg is placed on a rough inclined surface as shown in the figure.

If ,hfl“' 18 the force required to just move the block up the inclined plane and F_; i3

the force required to just prevent the block from sliding down. then the value of

—»

F

I F_"

-

Options:

5V3

4058593873. 2

4058593874. 10 N

4058593875, 253N

4058593876, SOV3N

*| is: [Use g = 10 m/s?]

Question Number : 34 Question Id : 4058591228 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



5 {1 &1 U@ el WeRid il & SFHER Te GRax 3fFd dd | Rd g1 3
ST 00 R Ied Pl HW DI 3R T B & [T G5 99 £ qUT[ed

31 4 g & J9n & fig siawas o £ 8. 79 ‘ﬂ| H HTHA &
[f[Gar 8 g = 10 {2

Options :

53

4058593873, 2

4058593874, 10 NV

4058593875, 253N

4058593876 SOV3N

Question Number : 35 Question Id : 4058591229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A body of mass 2 kg begins to move under the action of a time dependent force
given by F= (6 {14612 ?] N. The power developed by the force at the time ¢ 1s
given by: L

Options :

Ay miR
4058593877, (617~ 9r) ¥

4058593878, (9" + 61°) IV



3 i ra
4058593879, (3t + 6t7) ¥

3165\
4058593880, (9" + 617) ¥

Question Number : 35 Question Id : 4058591229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2 o 1 0% f9vs U@ Sraid 6 F = (6,7 +.6/2 ;) N & SFRIG A
B YR Bl 8| + G0 IR g0 gRI S99 Ufed Af:

Options :

A R
4058593877, (61" +9:7)
4058593878, (9" + 617) ¥
gy Zou
4058593879, (3t + 617) ¥

3 5 "
4058593880, (9" + 6t7) ¥

Question Number : 36 Question Id : 4058591230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i b o ;1
The mass of the moon 18 Taq times the mass of a planet and its diameter is =

times the diameter of a planet. If the escape velocity on the planet is v, the escape
velocity on the moon will be :

Options :



4058593881. 12

4058593882. 4

4058593883. O

..-.rl-"!

4058593884. -

Question Number : 36 Question Id : 4058591230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS T GOTHH TP T8 & GO0 BT — 1 ¢ U1 SHDT T I8 &

I = T | % 978 TR e 7 v 81 ll ST o e &

Options :

4058593881. 12
4058593882. 4

4058593883. O

..-.rl-"'!

4058593884. -

Question Number : 37 Question Id : 4058591231 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A small spherical ball of radius r. falling through a viscous medium of negligible
density has terminal velocity 'v'. Another ball of the same mass but of radius 2r.
falling through the same viscous medium will have terminal velocity:

Options:

b | =

4058593885.

4058593886.

&

| R
-

4058593887.

4058593888. 4v

Question Number : 37 Question Id : 4058591231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

» 1 1 U BICI MAPR 118 47109 99 o Ueh =g g1y § Rl 8|
ISP HIH &+ & | THH GoqaH qul 2 e &1 g8’ el 99 9=

Trend # IRt § 9 39T I 3 eI
Options:
v
4058593885, 2
¥
4058593886. 4
4058593887 2v

4058593888. 4v



Question Number : 38 Question Id : 4058591232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speed of sound in oxygen at S.T.P. will be approximately:
(given, R=8.3 JK~ L, y=14)
Options :

4058593889. 341 m/s

4058593890. 333 mis

4058593891. 325 m/s

4058593892, 310 m/s

Question Number : 38 Question Id : 4058591232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

OT=e d19 U4 316 IR e § @i &1 ara aayT gt

fem . rR=83 K1 qUy=1.4)
Options :

4058593889. 341 m/s

4058593890. 333 mis

4058593891. 3125 mis

4058593892, 310 m/s



Question Number : 39 Question Id : 4058591233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A gas muxture consists of 8 moles of argon and 6 moles of oxygen at temperature
T. Neglecting all vibrational modes. the total internal energy of the system is:

Options :

4058593893. 21 RT

| )
a

4058593894.
4058593895. 29 RT

4058593896. 20 RT

Question Number : 39 Question Id : 4058591233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T ATIHH R 0P T 0901 T SmE & § Hid 9T SaiioH & 6 Jid 39 |
il PO SRS I UG T §U FPE B P H<IRD ol o:

Options :

4058593893. 21 RT

3
=

4058593894.

4058593895. 29 RT

4058593896. 20 RT



Question Number : 40 Question Id : 4058591234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Force between two point charges g; and g, placed in vacuum at '+ cm apart is F.

Force between them when placed in a medium having dielectric constant K=5 at
'v/5' em apart will be:

Options:

n

4058593897. F/

%

4058593898.
4058593899. F/15

4058593900. 25F

Question Number : 40 Question Id : 4058591234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fafa & » I & X R Ryd &l famg 3mael ¢, T g, & S19 @ T 99 F g
K=5 RIdegdid gl J1egH T /5 I 31 IR UG 351 3d¥| & & v aral
§d gIT:

Options :

4058593897. F/5

4058593898. 5F

4058593899. F/15



4058593900. 25F

Question Number : 41 Question Id : 4058591235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By what percentage will the illumination of the lamp decrease if the current drops
by 20%?

Options :

4058593901. 36%

4058593902. 46%

-
S
-]
[=]

4058593903. 5

4058593904. 26%

Question Number : 41 Question Id : 4058591235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRT 20% DY Bl O W A1 B Waiied § fooa wiaerd ol ghft:
Options :

4058593901. 36%

4058593902. 46%

_n

4058593903. 56%

4058593904. 26%



Question Number : 42 Question Id : 4058591236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A uniform magnetic field of 2 x 10~ T acts along positive P-direction. A
rectangular loop of sides 20 em and 10 cm with current of 5 4 is in ¥-Z plane. The
current 1s 1n anticlockwise sense with reference to negative X axis. Magnitude and
direction of the torque 1s:

Options :

A

4058593905, < * 107" N-m along positive Z-direction

4058593906, = * 10~ N-m along negative Z-direction

4058593907, 2 * 107" N-m along positive V-direction

4058593908, 2 * 107" N-m along positive X-direction

Question Number : 42 Question Id : 4058591236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2 % 107 T 1 U UHHHH JEHIY &7 YD Y- 318 § B g1 20 941
T 10 YHT Y137 BT U AR G4 5 4 YRS T 1-Z 7 H § 1 FHUTHD
X 3ef % e T YRT aTarad! § | 6 ST 7 TRATo Td 3=

Options:

< 10~ Nom YA Z- TR o 3gfam

-

4058593905.

| ]

< 10~ Nom SBUNED Z - [ P 3Ffaw

4058593906.



| ]

< 107 Nom YD ¥ - [G=T P 3rgfew

4058593907.

-

< 10~ Nom YA X - (SRS 3fw

4058593908.

Question Number : 43 Question Id : 4058591237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An AC voltage V7= 20 sin 200xt 1s applied to a series LCR circuit which drives a

r
current 7= 10 sin| 200 7 + = |. The avera ge power dissipated i1s:
. Ly

Options :

4058593909. 21.6 W
4058593910. 200 W
4058593911. 50 W

4058593912. 173.2 W

Question Number : 43 Question Id : 4058591237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ud TAGal dleed 77 = 20 sin 2007z dlee &1 U6 JUiTEg LCR TRTY T SiST 791
4 ' 5 2

oI S/ 1=10 sin | 2[101?+%|A URT g5dl o Siad fdd e :
N S

Options :

4058593909. 21.6 W



4058593910. 200 W

4058593911. 50 W

4058593912. 173.2 W

Question Number : 44 Question Id : 4058591238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Electromagnetic waves carry energy as they travel through space and
this energy is equally shared by the electric and magnetic fields.

Statement II: When electromagnetic waves strike a surface. a pressure 18 exerted
on the surface.

In the light of the above statements. choose the most appropriate answer from the
options given below:

Options :

4058593913. Both Statement I and Statement II are correct.

4058593914. Both Statement I and Statement IT are incorrect.

4058593915. Statement I 15 correct but Statement II is incorrect.

4058593916. Statement I is incorrect but Statement IT is correct.

Question Number : 44 Question Id : 4058591238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



=i &l Py U MU &

DY I: [degd e 1[G a1 SHoil DI WU Bl © od 98 SHHIR H i Bl
g 3R 39 Sl | fdagd & aYl e g & HT aR1aR UFT 3idT 8|

DY II: 919 Blg [d5gd JHEDIY a7 fhdl de Y THd ¢ dl dd IR U ald
SINIERESRIG

IWRIad DYl & Fao! H, 12 Ay 7g faspedl & 9 ¥ S IR gHT:

Options :

4058593913, Gl PUT I AU Y 11 Jal ¢

4058593914, Gl BUF I YT HU IL T 5|

4058593915, PU I Tel § Tiich= HY= I 7Ted § |

4058593916, @YU I TTcid %’ Ald HYFII ﬂﬁ%l

Question Number : 45 Question Id : 4058591239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When unpolarized light 1s mncident at an angle of 60° on a transparent medium
tfrom air, the reflected ray is completely polarized. The angle of refraction in the
medium 1s:

Options:
4058593917. 30°
4058593918. 60°

4058593919. 45°

4058593920. 90°



Question Number : 45 Question Id : 4058591239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o Sfgfad 3 fopddt uRe=f 1808 TR 60° & PIT R 3Mafad gial g
ﬁqﬂaﬁﬂw - {4 BIdil & | HIEOH BT 3{Ydc- HIv §:
Options:

4058593917. 30°

4058593918. 60°

4058593919. 45°

4058593920. 90°

Question Number : 46 Question Id : 4058591240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In a photoelectric effect experiment a light of frequency 1.5 times the threshold
frequency 1s made to fall on the surface of photosensitive material. Now if the
frequency is halved and intensity is doubled. the number of photo electrons
emitted will be:

Options :
4058593921. Zero

4058593922, halved

4058593923, doubled

4058593924, quadrupled



Question Number : 46 Question Id : 4058591240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UBTY dggayHTd & AN ¥ ggall SaRi @1 1.5 11 S1af &1 U U] bl
TPTRI UTe! UTY & Tel IR 3M9fd BIdl 8| 36 TS 3Tgit Pl el quT digral
1 &1 TH1 DR 401 O a1 Ifoid YbTe SaaeHl ol SeT gRik:

Options :

4058593921, <K

4058593922, HTEl

4058593923, & T1

4058593924, U TG

Question Number : 47 Question Id : 4058591241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The mass number of nucleus having radius equal to half of the radius of nucleus
with mass number 192 is:

Options:
4058593925. 20

4058593926. 32

4058593927. 24



4058593928. 40

Question Number : 47 Question Id : 4058591241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%91 SodHH T & A1y &1 s & sl s are A1iHe &1 goua= I

Options :

4058593925. 20

4058593926. 31

4058593927. 24

4058593928. 40

Question Number : 48 Question Id : 4058591242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A
B

The output of the given circuit diagram 1s -
Options :

4058593929.
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Question Number : 48 Question Id : 4058591242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A
b

}.-"

feama oy s ffa g -

Options:

4058593929.



agjojo
|

A
0
L0
0
|

4058593930.

3*:2*3"""

0

4058593931, 1 I'!

Question Number

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time :

Correct Marks : 4 Wrong Marks : 1

The resistance per centimeter of a meter bridge wire 1s r. with X' Q resistance in
left gap. Balancing length from left end is at 40 em with 25 Q resistance in right
gap. Now the wire 1s replaced by another wire of 2r resistance per centimeter. The
new balancing length for same settings will be at

Options:

4058593933. 80 cm

4058593934. 20 cm

4058593935, 10 cm

=T = B R

: 49 Question Id : 4058591243 Question Type : MCQ Option Shuffling : Yes Is

0



4058593936. 40 cm

Question Number : 49 Question Id : 4058591243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e Ig & dR 1 Ui I HfeRie - § TUT §70 SR B v @ UieRiy 81 S1fga
SRTE H 25 Q ioRIY & W1y &@ig R 9 S=fad oy 40 991 81 3@ 59 dR
] Wl T 2 UIeRIY aTe SRR dR gRT1 AR R e ST 8 | §6H
AR & TU 15, F=ferd aals sl

Options :

4058593933. 80 cm

4058593934, 20 cm

4058593935, 10 cm

4058593936. 40 cim

Question Number : 50 Question Id : 4058591244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The measured value of the length of a simple pendulum is 20 em with 2 mm
accuracy. The time for 50 oscillations was measured to be 40 seconds with 1
second resolution. From these measurements, the accuracy in the measurement of
acceleration due to gravity 18 N%. The value of N 1s:

Options :

4058593937. &



4058593938. 4

4058593939. 8§

L

4058593940.

Question Number : 50 Question Id : 4058591244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR AT D AT T AT 2 I TGl o Wiy 20 Yt W91 1l § 1 50 Sre

& 10 1 v YGdl & 1Y J19T JHY 40 Ybs ¢ | 59 AU Y, oy R0l
A0 & YGAIN% 8 I NBTAFG -

Options:

4058593937. 6

4058593938. 4

4058593939. 8§

4058593940. 5

Physics Section B
Section Id : 40585977
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 10



Number of Questions to be attempted : 5

Section Marks : 20
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 40585977
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 4058591245 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A body of mass 'm' 1s projected with a speed 'u' making an angle of 45° with the
ground. The angular momentum of the body about the point of projection. at the

highest point 1s expressed as -"I'% . The value of X' 15
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 51 Question Id : 4058591245 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'm' GOHT & U (UUS DI edl I Y 45° & DI W v 371 Y HaAUd fhar o
g1 &g fig & ulka: sifieman $ar & g R s o1 sivfg Ia _@

g1'X" BTHA gl

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 4058591246 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two 1dentical spheres each of mass 2 kg and radius 50 cm are fixed at the ends of a
light rod so that the separation between the centers 1s 150 cm. Then. moment of
inertia of the system about an axis perpendicular to the rod and passing through 1ts

: .. X 3 .
middle point 1s ,}—Uffg m~ . where the value of x 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 4058591246 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2 T a1 good Ut 50 T4 BT & S THHH 7d UP 8ebl ©8 & g1 ER]
R VPR VUM FI RIS P IS g 150 I I TABS B
0] fag Y oA dTdll auT §8 & aradd &l & URd: Mg &1 Srgd 3ol
= oo H1? § Sfel x 1 | gl

20

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 53 Question Id : 4058591247 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two blocks of mass 2 kg and 4 kg are connected by a metal wire going over a

smooth pulley as shown in figure. The radius of wire 1s 4.0 ¥ 107 m and Young's

modulus of the metal is 2.0 x 101! N/m?. The longitudinal strain developed in the

wire is — . The value of o is [Useg=10m :.:]
(L S

o)

Ekﬁ_r

dkg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 53 Question Id : 4058591247 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



&2 T o & 3FER 2 %ma4ﬁa‘m§owﬁ?a3r{gc&wmﬁﬁg?ﬂ
(FERA T gl o ard gmﬂ@%ﬁﬁ:ﬁﬁﬁ%ﬂﬁr%’lmﬁﬁw 4.0 x 107
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L RlodTHA gl G 8. g= 10 WA

L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 54 Question Id : 4058591248 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The time period of simple harmonic motion of mass M mn the given figure 1s

1 f‘il where the value of o is .

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 54 Question Id : 4058591248 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

&8 T o I M 5o0HH & ek B IR WWW&W@ & ol
o BT A gl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 4058591249 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The distance between charges +¢ and —g 1s 2/ and between +2¢ and —2g 1s 4/. The

clectrostatic potential at point P at a distance r from center O 1s -u f‘r—'; x10°¥ ,
LreJ
: y 1 O o i,
where the value of a 15 . (Use e 9x 107 Nm~C ™)
0

‘I'.l

G
L g t f t *
+2g —g 8 +q —2q

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 4058591249 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

+q TYUT—g TR & & DI G2 21 AU +2g TUT—2q AR D &1 B g3 41 B

% 0 PR AT P RRRR I7g0 049 o L |x10%7 3, 56t o B10M
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Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 4058591250 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the following circuit, the battery has an emf of 2V and an internal resistance of

2 G S
=0 . The power consumption in the entire circuit 1s W.
.

20
\J-WQ-

o P

2V 2q
3
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 4058591250 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Fafafe o 3, 8t o1 fa.ar. 30 2v aur sk wiekly 2o B1 R ukoy 3
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2V 2q

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 57 Question Id : 4058591251 Question Type : SA Calculator

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two circular coils P and O of 100 turns each have same radius of m cm. The
currents in P and R are 14 and 24 respectively. P and Q are placed with their
planes mutually perpendicular with their centers coincide. The resultant magnetic

tield induction at the center of the coils 18 fy ;T . Where x =

[Use 1y =4m x 10~ Tma™1
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

: None



Question Number : 57 Question Id

: 4058591251 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

100 U Tl G §HH FAIBR Pierdl P Q Bl Uh GHMH Hedl » Yl g1 P
qUT Q H YRTHHTT: 1.4 TUT 24 G| P TYUT 0 BT SHIME s o 1Y Ul
UREINS TiEad dadl & 91y W11 5 | Psiad] & $5 IR URUIE] T
2F) (magnetic field induction) J: mT 8 olelx= |

[ﬁ_“:ﬂ% Ho =4 > 1077 Tmd™1]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id

: 4058591252 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The magnetic flux ¢ (in weber) linked with a closed circuit of resistance § Q

" . " . 3
varies with time (in seconds) as ¢ = 5
att=2s1s A,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id

16¢ + | . The induced current in the cireumit

: 4058591252 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

8 Q UfRIY & U 9 URUY ¥ UREG TG Bady ¢ (AR H) T (@ H &
MY § = 57 36/ +1 D TR URAldd BIaT 3 ¢ =2 ¥ R IRy T URT 4RI
A

Response Type : Numeric

Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 4058591253 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Light from a point source in air falls on a convex curved surface of radius 20 cm
and refractive index 1.5. If the source is located at 100 cm from the convex
surface. the image will be formed at cm from the object.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 4058591253 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

a1y ¥ U fawg Iid I UHIRI 1.5 Suaq-id qul 20 JH! HsaT & U 3ad ab
dd UR AT9fdd 51l & | Ifc Hid 39d ad 9 100 YH! TR f&Yd § dl o &1
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 60 Question Id : 4058591254 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A nucleus has mass number 4, and volume 7. Another nucleus has mass number
A, and Volume V5. If relation between mass number 1s 4, = 44,. then

IJ’

4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 60 Question Id : 4058591254 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U A1YS Pl GogHH HBT 4, AUl TG ¥, & | T8 YD DI SodHH Sl
A, TUT 3TH 7, §1 TS GoqqH SISl H Ha=] 4, = 44, 51 76
V,

I’I

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Chemistry Section A
SectionId: 40585978
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 40585978
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 61 Question Id : 4058591255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A sample of CaCO; and MgCO; weighed 2.21 g 1s 1gnited to constant weight of

1.152 g. The composition of mixture is :

(Given molar mass in g mol™' CaCO; : 100, MgCO; : 84)



Options :

4058593951. 1.023 g CaCO5 + 1.187 g MgCOy4
4058593952, 1.187 g CaCO; + 1.023 g MgCO;5
4058593953, 1-023 g CaCO; + 1.023 g MgCOs;

4058593954, 1.187 g CECD;-; +1.187 g higc{ja

Question Number : 61 Question Id : 4058591255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2.21 g @It CaCO; Ud MgCO; & U A Bl 1.152 ¢ & BR YR T o
fomar SITaT § 1 Hreor &1 e

(e 11 8 ¢ mol™! H HITR §64HM: CaCO; : 100, MgCO; : 84)

Options :

4058593951, 1.023 g CaCO; + 1.187 g MgCO;5

4058593952, 1-187 g CaCO5 + 1.023 g MgCO;

4058593953, 1.023 g CaCO5 + 1.023 g MgCO;

4058593954, 1-187 g CaCO5 + 1.187 g MgCO;

Question Number : 62 Question Id : 4058591256 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

The four quantum numbers for the electron in the outer most orbital of potassium
(atomic no. 19) are

Options :
n=21=0.m=0s=+1
4058593955, .
n=3.1=0.m=1 5=+
4058593956. 2
n1=4.]=0.m=0,5=+.
4058593957, 2
n=4]=2.m=-1 5=+
4058593958. 2

Question Number : 62 Question Id : 4058591256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ul Ry (WRET] $HHIP 19) P SRIqH &P § URYd sadeld &I 9Ri ddieH
i

Options :
n=2.1=0.m=0s=+1
4058593955. 2
n=3.1=0.m=1 5=+
4058593956. 2
n=4.1=0.m=0 5=+
4058593957. 2

n=4 =2 m==).5=1
4058593958.

B |



Question Number : 63 Question Id : 4058591257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s least 1onic?
Options :

4058593959. KCl

4058593960, AgCl

4058593961, BaCl

4058593962, CoCly

Question Number : 63 Question Id : 4058591257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
= ¥ @ o Feas smfe

Options :

4058593959. KCl

4058593960, AgCl

4058593961, BaCl;

4058593962, CoCl



Question Number : 64 Question Id : 4058591258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A[g] O B{ g) e ?[ 3 The correct relationship between Kp. a and equilibrium

pressure P is

Options :
3
|{ N (I’EP"
P 1/
4058593963, (2+a) 2(1-w)
v et i
S A
o]
4058593964, (2+a)'~
lgpLﬁ
[I.-" o
S
4058593965, (2+0) <
Vo2
U_-." Fr Fi 4
Kp=—7
O
4058593966. {2+a)'-

Question Number : 64 Question Id : 4058591258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ay =B, + %m Kp. 0. Ud YRR q1d P § TE| T+ 8 ;

Options :

]

T
uf?pxz

K]_:: 7
4058593963, (2+a)2(1-w)



5 17

/2192
o’ <P
S A
o]
4058593964, (2+a)'~
y > Y
[I.-" P
b=y
4058593965, (2+0)<
Vo
u." o Fi
Be=—— 3
4058593966, 2+a) -

Question Number : 65 Question Id : 4058591259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement I : Sg solid undergoes disproportionation reaction under alkaline

0 2 7.
conditions to form §° and S,05°7.

Statement IT : C1O,~ can undergo disproportionation reaction under acidic
condition.

In the light of the above statements. choose the most appropriate answer from the
options given below :

Options:
4058593967. Both statement I and statement II are correct

4058593968. Both statement I and statement II are incorrect

4058593969. Statement I 15 correct but statement II 1s incorrect



4058593970. Statement [ 1s incorrect but statement I is correct

Question Number : 65 Question Id : 4058591259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A & e feg My

Y1 : I Sg &RIT T H SHUA AHHAT $3 $2~ Td §,0,% Tl
gl

HYF I : ClO,~ AT JTeqd & SRHIaH Sfifhar #R goar gl
U Byl & "g T i fau e fased| & 9 gallte Sugad 3w -

Options :

4058593967, A1 PUT [ TUT HYT 11 Tl & |

4058593968, G BYUT I AU HYT 11 TTad & |

4058593969, PUT I TEl § TR~g B 11 707 B |

4058503970, PUT LTTEd & UR~g P4 11 HEl 81

Question Number : 66 Question Id : 4058591260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Consider the following elements.
Group l A'B' — Period
c'D
Which of the following is/are true about A', B'. C' and D'?

A. Order of atomicradii: B'<A'<D'=(C'
B. Order of metallic character: B'<A'=D'<= ("
C. Size of the element: D' < C'<B'< A’

D. Order of ionic radii: B <A <D" <(C"
Choose the correct answer from the options given below :
Options :

4058593971, A. B and D only

4058593972, /A and B only
4058593973, B. C and D only

4058593974, A only

Question Number : 66 Question Id : 4058591260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



71 Tl U= [daR &
L1 A'B — zda

'Y
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13 Ry e e 78 98 SR T
Options :

4058593971, PAT A, BUID

4058593972. $addAUdB

4058593973, PAU B, CTI D

4058593974, Ba A

Question Number : 67 Question Id : 4058591261 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Group 13 trivalent halides get easily hydrolyzed by water due to
their covalent nature.

Statement IT : AICl; upon hydrolysis in acidified aqueous solution forms
octahedral [Al( HEDJE]B’_ 101,

In the light of the above statements. choose the correct answer from the options
given below :

Options:



4058593975. Both statement I and statement I are true
4058593976. Both statement [ and statement II are false
4058593977. Statement I 15 true but statement II 1s false

4058593978. Statement I 15 false but statement IT is true

Question Number : 67 Question Id : 4058591261 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

el pyA fer U B:
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Options :

4058593975, Gl YT I dUTHY 11 el 6 |

4058593976, G YT 1 IUT SHYF 11 TT0d & |

4058593977, PYUT 1 TEI € TReq Y 11 7Ie7d B

4058593978, PUT 1 TTTId § TR DY 11 FE1 81



Question Number : 68 Question Id : 4058591262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements from the following

A. All group 16 elements form oxides of general formula EO, and EO;, where

E =S, Se. Te and Po. Both the types of oxides are acidic in nature.
B. TeO, 1s an oxidising agent while SO, 1s reducing in nature.
C. The reducing property decreases from H,S to H,Te down the group.

D. The ozone molecule contains five lone pairs of electrons.

Choose the correct answer from the options given below:

Options :

4058593979, B and C only

4058593980, A and B only

4058593981, /A and D only

4058593982, C and D only

Question Number : 68 Question Id : 4058591262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FE Al P &

A. GIE 16 & 94 dd EO, Ud EO; & GH U a1l SHIF123 &41d © oigl
E =S. Se. Te Ud Po. Gl &l UBR & HqH5S g UHld d gl 5

B. TeO, HaHIBRSD @i SO, TGP Hhld B8l ol

C. 9Hg T -9 3fF W H,S ¥ H,Te B 30E19% [0 9edl 5 |

D. el 370] H gaiagiFl & Uid UdbIdh! g U1l &1 & |

- feu Tt fomedl 9 4 98l SR I




Options :

4058593979, P90 B Ud C

4058593980, 001 ATd B

4058593981, $ad AUd D

4058593982, dad CcUd D

Question Number : 69 Question Id : 4058591263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements from the following

A. Mn,05 is an o1l at room temperature

B. V,0, reacts with acid to give VD:_E_
C. CrO is a basic oxide
D. V,0; does not react with acid

Choose the correct answer from the options given below :
Options :

4058593983, B and C only

4058593984, A. B and C only

4058593985, A. B and D only

4058593986, 4 and C only



Question Number : 69 Question Id : 4058591263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

T8 9 PYE

A. BHY & A9 IR Mn,0, daiid ©
B. V,0, 3% & A1 a1 & V0,2~ &dl g

C. CrO U% &R1T 5S¢l )
D. V,0; ik & 1Y b1 -Tgl Hral g1

1 Ry e e § & w8 ST
Options:

4058593983, P0¢ B Td C

4058593984, PAT A, BTG C

4058593985, PAU A, BTG D

4058593986, P00 AT C

Question Number : 70 Question Id : 4058591264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Select the option with correct property -

Options:

4058593987, [INICl 4]2_ Diamagnetic. [N1(CO),] Paramagnetic

4058593988, [N1(CO),4] Diamagnetic. [}51'{:14]3_ Paramagnetic



4058593989, [N1(CO) 4] and [_\'1'(:14]3_ both Diamagnetic

4058593990, [N1(CO),] and [NiCl 4]2_ both Paramagnetic

Question Number : 70 Question Id : 4058591264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
e U1 ard [deed I g

Options :
4058593987, [NiCL,}*~ IIATHR®IE. [Ni(CO),] SHTT=DA
4058593988, [Ni(CO),] WIAgM®IT, Nicy* IgE®d

4058593989, [Ni(CO),] T4 [NiCL, 1>~ gHl Hidga®i

4058593990, [Ni(CO),] Td [NiC1,}*~ Gl ST

Question Number : 71 Question Id : 4058591265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST I LIST II
(Complex ion) |(Electronic Configuration)

A |[CxH 0P | L 12; egﬂ

B. |[Fe(H,0),]" | IL 12; el

C. |INi(H,0)s]*™ |1IL [t,° e,

D. |[VH,0) " | IV tzgﬁ e ?

Choose the correct answer from the options given below:
Options :

4058593991, A-IL. B-III. C-IV. D-I

4058593992, A-III. B-II. C-IV, D-I

4058593993, A-IV. B-1. C-II. D-III

4058593994, A-IV. B-III. C-I. D-II

Question Number : 71 Question Id : 4058591265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

il 1 T foe 9=l 11 9 64
A1 T I
(HPd M) | ER IR
A |[CrE0)P™ | L [12 e,
B. |[[Fe(H,0),]°" | IL ty' egﬂ
C. |NiH, 0, |1IL t' e’
D. |[VH,0) " | IV tzgﬁ eg:
At fau 7Y foed # ¥ el W :

Options :



4058593991, A-IL. B-III. C-IV, D-I

4058593992, A-IIIL. B-II. C-IV. D-I

4058593993, A-IV. B-1. C-II. D-III

4058593994, A-IV. B-III. C-I. D-II

Question Number : 72 Question Id : 4058591266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The fragrance of flowers 18 due to the presence of some steam volatile organic
compounds called essential oils. These are generally insoluble in water at room
temperature but are miscible with water vapour i vapour phase. A swmtable method
for the extraction of these oils from the flowers 1s -

Options :

4058593995, distillation

4058593996, crystallisation

4058593997, distillation under reduced pressure

4058593998, steam distillation

Question Number : 72 Question Id : 4058591266 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



] 1 e S0 IURYd $8 HY-arwRiid Sra-e gard, f5s goiaid aa
@51 Il 5. P BRUIGIdl ¢ J HH P Y OR WG: o H 3ifdeid 8ld 8 U=y
arsy g1 § ofct aryg J fiyuiig §1d § 1 g1 9 g4 dadl & [Fshuu $f Uh

SUgE fafd g-

Options :

4058593995, HIHd-
4058593996, fopecelimul

4058593997, 51 aTd UR 3{1¥a-

4058593998, HIH HIHdH

Question Number : 73 Question Id : 4058591267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct order of reactivity in electrophilic substitution reaction of the
tollowing compounds 1s :

CH, Cl NO,
h O
I s
A B C D

Options:

4058593999. A=B=C=D

4058594000. D=C=>=B>=A

4058594001. B=C=>A>D

4058594002. B=A=C=>D



Question Number : 73 Question Id : 4058591267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬂ?ﬁ’ﬁﬁ%gﬁﬁijﬁ@ﬁﬁﬁ@ﬂ?@ﬁﬂ%ﬁ%ﬁ% T aTiierdr &
hH e:

CH, Cl NO,
)0 f%
P P e
A B C D

Options:

4058593999. A=B=C=>=D

4058594000. D=C=>=B>=A

4058594001. B=C>=A>D

4058594002. B=A=C=>D

Question Number : 74 Question Id : 4058591268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify structure of 2.3—dibromo—1-phenylpentane.

Options :

4058594003. Br

4058594004.



Br

Br
Br
4058594005. Br
Br Br
4058594006.

Question Number : 74 Question Id : 4058591268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2.3- SIESHI-1-BHd U &I T 6

Options :
Br
4058594003. Br
Br
4058594004. Br

4058594005.



Br

Br

Br Br

4058594006.

Question Number : 75 Question Id : 4058591269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Major product of the following reaction is -

D-Cl "

CH,

Options :

4058594007. H CI

¢

4058594008, H CHj

40585940009.



4058594010, H  CHs

Question Number : 75 Question Id : 4058591269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fe sifiiforar & ger Sare §-

D —Cl
S . 3

:
CH;
S |

Options :

4058594007. H CI

¢

4058594008, H CHj

40585940009.



Cl CH,

&

4058594010, H  CHs

Question Number : 76 Question Id : 4058591270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify A and B in the following reaction sequence.

Br
Cone TINC }3 . (1) Na(OH .
4 (i1) HCl
Options:
Br Br
OH
A= B =
4058594011, NO, NO,
Br Br
NO, OH
A= B =

4058594012. NO, OH



2 r(_.]') z HQ-;

4058594013, NO,

NO, NO,
OH

Question Number : 76 Question Id : 4058591270 Question Type : MCQ Option Shuffling : Yes Is

4058594014.

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

=1 aiftifcpar H & A U9 B & Ug:

Bir

w= [N, (i) MaliH
> A .
(n) 1l

Options:
Br Br
OH
A= B =
4058594011. NOE NGE

Br
: NO, :
NO,

4058594012.



Br OH

4058594013, NO, NO,

NO, NO,

N,

Question Number : 77 Question Id : 4058591271 Question Type : MCQ Option Shuffling : Yes Is

4058594014. H

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify major product 'P' formed in the following reaction.
8]

Il
O Cl Anhydrous
@ . @ Ak i

{Major Product)
Options :

0

T
4058594015.

()

C
-
<ghe
4058594016.

4058594017.



O

|
: ,—rl)\@/i:&fl
[::],f{TKTh
4058594018.

Question Number : 77 Question Id : 4058591271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 sififehar & it g I@re P &f ugdm:
(8]
by,
NG
SR gaIr-
& fﬁ“m}
Options:

0

<O
4058594015.

8

|
C
-
IO
4058594016.

O

|
4058594017. :



@/{'{x'm
4058594018.

Question Number : 78 Question Id : 4058591272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the name reaction.

CHO

@ CO.TICI @/
Anhyd. AICI;/CuCl

Options :

4058594019. Etard Reaction

4058594020, Stephen Reaction
4058594021. Gatterman - Koch Reaction

4058594022. Rosennnmnd Reduction

Question Number : 78 Question Id : 4058591272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fe=1 = stffcpan ot ug=

ClIO

@ €O, HCI ;
!x i AICH, CaCl

Options:




4058594019, %cTS SMHfehal

4058594020, W1 Hfufepar

4058594021, TCTHMA-HIE AHfHiHTr

4058594022, J9TES STl

Question Number : 79 Question Id : 4058591273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Aniline reacts with con. H,SO,. followed by heating at 453 - 473 K

gives p-aminobenzene sulphonic acid, which gives blood red colour in the
'Lassaigne's test’,

Statement II : In Friedel - Craft's alkylation and acylation reactions. aniline forms
salt with the AICl; catalyst. Due to this. nitrogen of aniline aquires a positive

charge and acts as deactivating group.

In the light of the above statements. choose the correct answer from the options
given below :

Options :
4058594023. Both statement I and statement II are true
4058594024. Both statement I and statement II are false

4058594025. Statement [ 1s true but statement II 1s false

4058594026. Statement [ 1s false but statement II 15 true



Question Number : 79 Question Id : 4058591273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

REECEURICIE I

HYF 1 : UMl U H,80,, 3 [oha1 B TalRI 453 - 473 K TR T B 1R
p-UFIE=IT TepifAe 3 a1 8 o Y TRI&T F g of e @ T ST 6

HYT 11 : BISA-PIUE Uehdlidul Ud URielidur siftifharsii 5, Alcl; SoR®

& 1Y, UG Ue @au §41a1 § | SHP PRUI U BT A5 oM Y-1aSl JTw
Bl § YT U MISHUPRI §Hg & &U H S SRl g |

Sy Pyl & day § A f4u e fasedl O 9 Haiide U 3w

Options :

4058594023, Gl PUT I YT HY 11 Tl 6 |

4058594024, G BYF 1 AYT HYH 11 TAd 6 |

4058504025, PUT 1 eI § TRq BU 11 TTd &1

4058594026, PUT 1 TTCd & TR HY 11 FE1 B

Question Number : 80 Question Id : 4058591274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The azo-dye (¥) formed in the following reactions is

Sulphanilic acid + NaNO, + CH;COOH — X.



Options :

1{503@—N=N @ NH,
4058594027. Q

HSD;@N -N

4058594028.

HO,S —?\-' N— NH,
4058594029.

HS(Z)_;@—H N o
(09-sv—{(E) s
4058594030.

O —NH,

Question Number : 80 Question Id : 4058591274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e siftifra & M U9 9@ (1) &

YAl 3 + NaNO, + CH;COOH — X.

X + s Y

NH,
Options :

4058594027.



(o) w

Hﬂh_<:j}~ﬁ N —

\C)
4058594028. .

HSO, @ N=N

HO,S 1‘:'} N-=N 1‘:'} NH,

10,s —~ 0 )—N-N — 0 )
4058594029.
nﬁmﬁ-—{igzpy—-w N

4058594030.

X—N—~<:j}-th
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Question Shuffling Allowed : Yes
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Question Number : 81 Question Id : 4058591275 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A diatomic molecule has a dipole moment of 1.2 D. If the bond distance 1s 1A°,

then fractional charge on each atom 1s x 1071 esu.

(Given 1 D = 10718 esuem)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 81 Question Id : 4058591275 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fepaft feroramiUaep o1u] 1 fgsa 3neul 1.2 D § 1 afe e g3 14° & 1 wde
UIHU G SIEIES \H@QT% < 107! esu.

(m]—lﬂ'{%i 1D=10"1% esucm)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 82 Question Id : 4058591276 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If 5 moles of an ideal gas expands from 10 L to a volume of 100 L at 300 K under
1sothermal and reversible condition then work, w, 1s — x J. The value of x 15

(Given R =8.314 TK™! mol™)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 4058591276 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gfe; foreit ofre=f 19 o 5 Hie 300 K OR FHATH U6 IohHuig IR H 10 L
9 100 L ARG b [GEiRA 81l 8 1 P w—x T § 1 x PTHA & .

(W% R =8.314 TK~! mol ™)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 4058591277 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
The molarity of 1 L orthophosphoric acid (H;PO,) having 70% purity by weight

(specific gravity 1.54 g em™) is M.
(Molar mass of H;PO, = 98 g mol™)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 4058591277 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
1 L STUTRBIRG 3R (H;PO,) oRi®! YR & 3F9R Y&l 70% & (af1y

9 = 1.54 g cm™>), B AR & M.
(H;PO, DT AITR SogHM = 98 g mol ™)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 4058591278 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The values of conduetivity of some materials at 298.15 K in Sm™! are 2.1 x 107,

1.0 x 10719, 1.2 % 10, 3.91, 1.5 x 1072, 1 x 107", 1.0 x 10°. The number of
conductors among the materials 1s



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 4058591278 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Uarl $ 208.15 K W Sm~! H Al A §: 2.1 « 10%,1.0 x 10716, 1.2
10,3.91, 1.5 x 1072, 1 x 1077, 1.0 x 10% | f&U TTU Uarif & =rciep] 31 o I &:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 4058591279 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

r =k [A] for a reaction. 50% of A 1s decomposed in 120 minutes. The time taken
tor 90% decomposition of A 1s minutes.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 4058591279 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

r=k [A] foet aiftyfepar § A 1 50% 120 el § emufed §T ST § 1 A S 90%
e H O 95T & fiFe.

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 86 Question Id : 4058591280 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Number of moles of H 1ons required by 1 mole of MnO,4~ to oxidise oxalate 1on to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 86 Question Id : 4058591280 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
1 Hid MnO,~ R a8 310 ® CO, B HiRiiDd o3 4 savad H™ &
HIdl @1 HE B .

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 87 Question Id : 4058591281 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Number of 1someric products formed by monochlorination of 2-methylbutane in
presence of sunlight is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 87 Question Id : 4058591281 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2- AT D JUWBTY Bt IURYTd & FHIFRARH gRI HiHd garagd]
IAIG1 B TSI &: ,

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 88 Question Id : 4058591282 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A compound (x) with molar mass 108 g mol™ undergoes acetylation to give

product with molar mass 192 g mol™!. The number of amino groups in the
compund (x) 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 88 Question Id : 4058591282 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT TeIHH 108 g mol™~! AT UH Giffie THifeeial IR Hiek sogdH
192 g mol™! TTAT TG &l § | A () H UHIHT gl i 46T &: .

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Number : 89 Question Id : 4058591283 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
From the vitamins A, By. Bs. By,. C. D. E and K. the number of vitamins that can

be stored in our body 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 89 Question Id : 4058591283 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fdeTf A. B,. Bs. By, €. D.EUd K H ¥ 30 IRR ¥ FTcId fbU ol b dTcl
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